S “baXHeme

Manufc:\c‘ruv‘ers of Subaru Accessorvies

NUDGE BAR

FITTING INSTRUCTIONS

2018 XV & 2017 IMPREZA NUDGE BAR
NBSP-071

Remove front bar

Remove foam absorber

Remove washer hose if fitted

Take the 2 top back plates & loosely bolt into place using the existing holes on the
reinforcement on left & right side. (Fit these on back side of reinforcement). Using
M8 bolts & washers & nuts (pic 1)

Place main bracket on the outside of the reinforcement & loosely attach to top back
plate left & right side using M8 bolts, washers & nuts. (pic 1).

Take bottom back plate & fit on back side of reinforcement & loosely bolt in place
left & right side using M8 bolts, washers & nuts. (pic 1)

Check measurements from end of reinforcements to brackets should be 305mm (pic 1)
Tighten all bolts

The back plates will sandwich the reinforcement lip to the main plates so tighten
securely.

Place the foam absorber over reinforcement, mark out & trim 10mm off it. Then refit
(pic 2)

Cut plastic rib out of bar left & right side (pic 3)

Refit bar

Using the M12 bolts, washers & nuts fit nudge bar, adjust & tighten.

The top back plates has 3 holes. The lower hole is for the existing hole in the
reinforcement. (pic 4)

The bottom back plate goes in following the shape of the main bracket (pic 4).
COMPONENTS

10 x m8 bolts

20 x washers

10 x nyloc nuts

4 x m12 bolts

8 x m12 washers

4 x m12 nuts

2 x main brackets

2 x top plate

2 x bottom plate

Fitting instructions




Locate existing hole in Reo using
The top back plate

(Picture 2)

Trim 10 mm out of foam




N
,,,,,,,,

Remove rib from bar left &
Right side

(Picture 4)

This hole is for locating
onto reinforcement

(Picture 3)

Top back plate
left & right

Bottom plate left & right

Picture of main plate right




